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Seat No.: ________                                                       Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2014 

Subject Code: 330503 Date: 19-06-2014        

Subject Name: Industrial Stoichiometry 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 

5. Atomic/ Molecular weight Na=23, S=32, O=16, H=1,Cl=35.5,C=12, P=31, 

Air=28.8,Br= 80. 
 

Q.1 (a) Define (1) Mole % (2) Work(3) Molarity (4) Equivalent weight 

(5) STP & NTP(6) Heat Capacity(7) Molality 

07 

 (b) Do the following conversion 

(1) 60
0
F to K (2) 2 atm to N/m

2
 (3) 4 g/cm

3
 to Kg/ m

3 

(4) 150 J to calorie (5) 4.5 hp to Watt(6)0.1 N to HCl to Molarity 

(7) 10 kgf to Newton 

07 

    
Q.2 (a) Prove that Mole % = Pressure % = Volume% 07 

 (b) Find total available nitrogen content in aq. solution having 30 % Urea 

(NH2CONH2), 20% ammonium sulphate ((NH4)2 SO4) and 20% potassium 

chloride (KCl).All percentages are by mass. 

07 

  OR  

 (b) A feed to distillation tower contains 20% Methanol and 80% water. Distillate 

contains 98% Methanol and bottom contains 1% Methanol. Calculate mass 

flow rate of distillate and bottom for 10000 kg of feed per hour. Also calculate 

% recovery of Methanol  . All percentages are by mass.  

07 

    
Q.3 (a) Derive equation for Ideal gas law. 07 

 (b) Gas mixture has following composition by volume at 101.325 KPa and 300 K , 

O2 =5% ,Br2 = 28 %, Cl2 = 67% . Calculate average molecular weight and 

density of gas mixture. 

07 

  OR  

Q.3 (a) Prove that Cp – Cv = R 07 

 (b) In Decon process, HCl is oxidized by air to produce Chlorine.30% excess air 

than theoretical requirement is used. Find out weight if air supplied per kg of 

acid oxidized 

                    4HCl + O2           2Cl2 + 2H2O. 

07 

    
Q.4 (a) Define(1) Limiting Reactant(2) Excess reactant 

           (3)Conversion          (4)Yield 

07 

 (b) Explain in brief “Importance of recycling and bypass operation.” 07 

  OR  

Q. 4 (a) Define (1) Humid heat (2) Absolute Humidity (3) Wet bulb tempeterature 07 

 (b) A gas mixture containing benzene vapor is saturated at 101.325 Kpa and 323 

K.Calculate the absolute humidity if other component in the mixture is  

 

 (a) Nitrogen  and (b) Carbon dioxide. Vapor Pressure of benzene at 323 K = 

36.664 Kpa.      

07 
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Q.5 (a) Define (1)Sensible heat(2) latent heat of fusion (3) latent heat of sublimation 

(4) latent heat of vaporization. 

07 

 (b) A stream of CO2 is to be heated from 298 K to 383 K.Calculate heat to be 

added for gas flow rate of 100 Kmol/min.The molal heat capacity of gas is  

given by , 

Cp =21.37 + 0.0643T - 41.05 x 10
-6 

T
2  

+ 9.8 x10
-9 

T
3
 KJ/Kmol. 

07 

  OR  

Q.5 (a) Briefly explain Proximate and Ultimate analysis of coal. 07 

 (b) Find out Net Calorific Values for following two gases at 298 K 

(1) Methane (CH4) ,GCV=890.65 KJ/Mol 

(2) Ethane (C2H6) , GCV=1561 KJ/Mol 

Latent heat of water vapor = 2442.5 KJ/Kg. 

07 

 

************ 

 

 

 

ગજુરાતી 
પ્રશ્ન. ૧ અ વ્માખ્મા આ઩ો: (૧) ભોર % (૨) કામય   (૩) ભોરાયીટી (૪) તલુ્મબાય (૫) STP 

અને NTP(૬) હીટ કે઩ેસીટી (૭) ભોરારીટી 
૦૭ 

 બ રુ઩ાાંતય કયો.(૧) 60 0 F થી K (૨) 2 લાતાલયણ થી ન્ય/ુભી2 (૩) 4 
ગ્રા./સે.ભી.૩ થી કક.ગ્રા./ભી.૩ (૪) 150 જૂર થી કેરયી (૫) 4.5 હો.઩ા. થી લોટ 
(૬) 0.1N HCl થી ભોરાકયટી. (૭) 10 કક.ગ્રા. ફ઱ થી ન્યટુન. 

૦૭ 

    
પ્રશ્ન. ૨ અ સાબફત કયો કે ભોર % = દફાણ % = કદ % ૦૭ 

 બ જરીમ દ્રાલણ 30 % યયુીમા (NH2CONH2), 20% એભોનનમભ સલ્પેટ ((NH4)2 

SO4) અને 20% ઩ોટેનળમભ ક્રોયાઇડ (KCl) ધયાલે છે. તો આ નભશ્રણભાાં 
ઉ઩રબ્ધ નાઇટ્રોજન ગણો. 

૦૭ 

  અથવા  

 બ નનસ્માંદન ટાલયનુાં પીડ 20% નભથેનોર  80% ઩ાણી લજન દ્વાયા ધયાલે 
છે.નનસ્માંકદત પ્રલાહ 98% નભથેનોર અને તબ઱માનો પ્રલાહ 1% નભથેનોર ધયાલે 
છે. તો 10000 કક.ગ્રા./કરાક પીડ ભાટે નનસ્માંકદત પ્રલાહ અને તબ઱માના પ્રલાહ 
તથા નભથેનોર યીકલયી ટકાભાાં ગણો. 

૦૭ 

    
પ્રશ્ન. ૩ અ આદળય લાય ુભાટેના નનમભન ુસભીકયણ તાયલો. ૦૭ 

 બ લાયનુા એક નભશ્રણની 101.325 KPa દફાણે અને 300 K  તા઩ભાને કદ પ્રભાણે 
ટકાલાયી આ પ્રભાણે છે. O2 =5% ,Br2 = 28 %, Cl2 = 67% .  તો આ નભશ્રણનો 
સયેયાળ અણબુાય તથા ઘનતા ળોધો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ સાબફત કયો કે Cp – Cv = R. ૦૭ 
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 બ ડેકન પ્રોસેસભાાં  HClનુાં ઓબિડેળન હલાદ્વાયા કયી ક્રોકયન લાય ુફનાલલાભાાં 
આલે છે. આ ભાટે નસન્ધાનતક જરુયત કયતા 30% લધ ુહલા લા઩યલાભાાં આલે છે, 
તો 1 કક.ગ્રા. એનસડ ભાટે લ઩યામેર હલાની ગણતયી લજનભાાં કયો. 
4HCl + O2               2Cl2 + 2H2O 

 

૦૭ 

    
પ્રશ્ન. ૪ અ વ્માખ્મા આ઩ો: (૧) બરભીટીંગ પ્રકિમક (૨) એિેસ પ્રકિમક (૩) કાંલઝયન  

(૪) મીલ્ડ 

૦૭ 

 બ યીસાઇકરીંગ અને ફામ઩ાસીંગ ઓ઩યેળનનુાં ભહત્લ સભજાલો. ૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ વ્માખ્મા આ઩ો: (૧) બેજ ઉષ્ભા(૨) નનય઩ેિ બેજ (૩) બીના ગોરકન ુતા઩ભાન ૦૭ 

 બ ફેંબઝનની ફાષ્઩ ધયાલત ુાં લાય ુ નભશ્રણ 101.325 Kpa અને 323K તા઩ભાને 
સાંત્રપુ્ત છે, જો આ નભશ્રણભાાં ફીજો ઘટક (૧) નાઇટ્રોજન અને (૨) કાફયન 
ડામોક્સાઇડ હોમ તો નનય઩ેિ બેજની ગણતયી કયો.
ફેબઝન ભાટે 323K તા઩ભાને 
ફાષ્઩દફાણ = 36.664 Kpa. 

૦૭ 

    
પ્રશ્ન. ૫ અ વ્માખ્મા આ઩ો: (૧) સેંનસફર હીટ (૨) રેટાંટ હીટ ઓપ પરજુન (૩) રેટાંટ હીટ 

ઓપ સબ્રીભેળન (૪)  રેટાંટ હીટ ઓપ લે઩ોયાઇઝેળન. 
૦૭ 

 બ 100 કક.ભોર/ નભનનટ CO2 પ્રલાહ ને 298K થી 383K ગયભ કયલાભા આલે છે. 
જો ભોરર હીટ કે઩ેનસટી 
Cp =21.37 + 0.0643T - 41.05 x 10

-6 
T

2  
+ 9.8 x10

-9 
T

3
 KJ/Kmol હોમ તો 

આ઩લાભાાં આલેર હીટનુાં મલુ્મ ળોધો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ સભજાલો: કોરસાનુાં પ્રોબિભેટ અને અલ્ટીભેટ એનાબરસીસ. ૦૭ 

 બ નીચેના ફે લાયઓુ ભાટે નેટ કેરોયીપીક લેલ્યનુી 298K તા઩ભાને ગણતયી કયો. 
(૧) નભથેન (CH4) ,GCV= 890.65KJ/Mol 

(૨) ઇથેન(C2H6) , GCV=1561KJ/Mol 

રેટાંટ હીટ ઓપ લોટય લે઩ોય = 2442.5 KJ/Kg. 

૦૭ 

 

************ 


